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QUESTION 1

You have determined that the failure to a MetroChister is a disaster. Which step should you take?
A. Ensure the surviving node is isolated from its partner.

B. Force the surviving node to take over the functions of its partner.

C. Remount the failed partners volume.

D. All of the above

Correct Answer: D

QUESTION 2

When cabling a standard storage appliance for SyncMirror. disk pool 1 volumes must be cabled to Fibre Channel
adapter(s) located in what range of slots on the FAS960 appliance?

A. Slots 2 throiiandh 5
B. Slots 3 throuah 11
C. Slots 3 throuah 8
D. Slots S throuah 11

Correct Answer: D

QUESTION 3

Which one of the following does SnapRestore revert?
A. Snapshot schedules

B. Volume option settings

C. RAID group size

D. File content

Correct Answer: D

QUESTION 4

SnapVaulr snapshots for SnapLock volumes are deleted automatically according to the retention count set in the
SnapVault schedule?

A. True
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B. False

Correct Answer: B

QUESTION 5

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of Node 1s disk shelves. Which one of the
following features will cause Node 2 to monitor this error condition for a period of three minutes (by default), and then
forcibly take over Node 1 if the error condition persists?

A. Takeover on panic

B. Negotiated Fail Over

C. Auto enable of giveback

D. cf.quickloop.enable

Correct Answer: B
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